Maximum Marks : 25
Time : 1 hour

KINEMATICS
1) -Fmd. o.ngle, b/w B = ’l?-!-j‘-r'? b&?.—_-z’c_zj-{g

2). Rain is Fallin ver‘l:\'co.lh.’ w tth s)oeed. of 30
msS~!'. A woman 1'lde.s a. cycle with speed of

10 ms~. in Mov+h 4o Sovth direction. What'ls
di¥ection in which sShe sShould hold her umbreial

3) The ce'n!my of o lon hall is 2Smm high: What
is Mmaximum'’ hor cm-t-a.! distance hat ball
thyowwn With speed of 4dms™ can 30 withov t
hith‘ng c,c'_m'hg of wall ?
oy

Two tall bu’tldu-ngs arxe 200m QPO.Y":.“I"’V\‘
What Speed o b&ll wmust be -hrowwn hovigon-
-l:all -F'm'm window ShHowm above Qqround (m
one bunldmy so that ‘it Will entex a window

Som above gTOUnd in other ?

_ = TS . —_—
4). ¥ IA+el= IR-B! , Fimd amgle bfw A&S
oY
Unit vectors /ﬁ\ b\/é are inchned at oma\e.
e , prove +that IB-8l= 2sme

z
5). A particle moves m -y plane a.ccordimgto

equation "= 4t 4 st

6y = St. The accelevation of part



cle must be,
) IUms? b)) 12ms2 c)amS?* d) None.

( solve properly , only choo.smj an option will
—fetch Zzevo mark),

§). Accelevation of particle 1s afven as,
a= (2t+1) Ms 3
Pa.’r'l:ic,le_ s atryest ot oﬂg'm Tmitiall
18 distance covered oftvt 6 Seconds i<
ve.Ioc.'t-h, of body oftor 6 Secomds -

. LWhat



